PROBLEM

1\ dt
Letf: (0,0) - Rbegivenby f(x)|e ( t)’ . Then

(JEE Adv. 2014)

(@ f(x)is monotonically increasing on [1,0)
(b) f(x)1is monotonically decreasing on (0, 1)

©  (x)+ (L] =0 forall x (00

(d) f(2%1san odd function of x on R

SOLUTION




For xe[l,®), f'(x)>0
. f is monotonically increasing on [1,)
(a)1s correct.
For x€(0,1), f'(x)>0
.. (b) 1s not correct
X _(Hljﬂ 1/x _(Hl)ﬂ
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X
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. (¢) 1s correct.
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We get f(2%)+ f(2_x) =0 or f(2%)=—f(27)

f(2%)1s an odd function.
.. (d) 1s correct.

Replacing x by 2* in f(x) + J ( ) =0



